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SHAT : 20184

Oll&PXE== - 20iA

HRE - L=

OP = INE=4 19l J Sl

e & = Al =
& = =2l oH NMEHE~2 o = & N NMECX =N &

= A 508,849 A27,855 508,849 536,704 A27,855
&3 0 0 27,000 A27,000
2X3 0 0 0
= 0 0 0 0 0
e : : : : :
HEZ 33 0 0 0 0 0
OlIxIZ2al= 503,562 A27,046 508,849 509,704 A\BB5
Oll=== 0 0 0 0
Ol K=& 5,287 AB09 0 0 0
Bt 0 0 0 0
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AT ¢

Ol &Rt o = 0ll&k

SN LOI=XIB
=2 A& Che M)
X282 200 _E:gof“ = 2t o= o
200 M2l 5,287 6,09 2809
210 aEN LI+ 5,287 6,09 A809
216 Ol k=g 5,287 6,09 /809
216-01 S30U 20kt 5,287 6,09 809
OUIZ20I Xt 5,287,000& = 5,987
700 EXM-UASLLLHENAN 503,562 530,608 N27,046
710 B82S 503,562 530,608 N27,046
714 OIXI23l+ 503,562 530,608 N27,046
714-01 OIXI3&l= 503,562 530,608 N27,046
Ol xI=2al= 503,562,000& = 503,562
= o & A 508,849 536,704 N27,855
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SN SR - pas e 8= | oz
L
=7/a 508,849 53.704)  A27,85
=0l - FHA 508,849 53.704)  A27.85
NEEEIESE ) 508,849 509,704 855
FES ENERIE GIEY 508,849 500,704 855
I IE 508,849 509,704 ~855
602 01%12 508,849 509,704 855
ol olXI= 508,849 508,849 509,704 855
OulxI3 508,849,0002 = 508,849
R 508,849 53.704)  A27.85
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Oll&bXb2= - =0llat
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20124 DHX| 714,864 500,000 0 214,864
20138 & 13, 146 0 0 13, 146
201449 & 14,673 0 0 14,673
20158 & 15,160 0 0 15,160
20168 &= 9,978 0 0 9,978
20178 = 6,886 0 0 6,886
20188 &= 5,287 0 0 5,287
A 779,994 500,000 0 279,994
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INELE] ofH| | ¥ o=l | 22AE | 2l2AkE =
20124 DHX| 208,365 208,365 0 0 0 0 0 506,499
20138 & 0 0 0 0 0 0 0 13, 146
201449 & 2,200 2,200 0 0 0 0 0 12,473
20158 & 24,580 24,580 0 0 0 0 0 A9,420
2016 &= 2,000 2,000 0 0 0 0 0 7,978
20178 = 34,000 34,000 0 0 0 0 0 AN27, 114
2018 &= 0 0 0 0 0 0 0 5,287
A 271,145 271,145 0 0 0 0 0 508,849
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32 wol=xD|2 (Cr9): M2
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0BHTUHTYY | DI7THCUHHAXE | 01BETLHIHUO® =
=] 530,676 503,562 508,849 5,287
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St 530,676 503,562 508,849 5,287
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